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SEEERE L) U8 REHHE ;B HEHEE 256.8 260 m2
SEEEBERE) L) UL RGHNE Ba HEHEE 520.1 520 m2
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Wr m Wr m Wr m W m
No.1 +  4.00 - - 13.5 - - 32.0 - - - - - - - -
No.2 + 0.00 16.00 16.0 255 19.50 3120 28.4 30.20 483.2 - - - - - -
No.3 + 0.00 20.00 20.0 19.9 22.70 4540 25.8 27.10 542.0 0.0 - - 0.0 - -
No.3 + 11.072 11.072 1.1 6.3 13.10 145.4 23.3 24.55 2725 141 7.05 78.3 2.2 1.10 12.2
No.4 + 0.00 8.928 8.9 1.9 410 36.5 1.7 12.50 111.3 21 8.10 721 15.3 8.75 77.9
No4 + 350 3.500 35 1.9 1.90 6.7 1.7 1.70 6.0 0.0 1.05 3.7 0.0 7.65 26.8
No.4 + 17.720 14.220 14.2 4.6 3.25 46.2 3.4 2.55 36.2 - - - - - -
No5 + 0.00 2.280 2.3 10.3 7.45 171 28 3.10 71 - - - - - -
No.6 + 0.00 20.00 20.0 0.00 5.15 103.0 0.6 1.70 34.0 - - - - - -
No6 + 1.70 1.700 1.7 - - - 0.0 0.30 0.5 - - - - - -
97.7 97.7 1120.9 1492.8 154.1 116.9
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No.1 +  4.00 - - - - - - - -
No.2 + 0.00 16.00 16.0 - - - - - -
No.3 + 0.00 20.00 20.0 - - - - - -
No.3 + 11.072 11.072 1.1 - - - - - -
No.4 + 0.00 8.928 8.9 0.0 - - 0.0 - -
No4 + 350 3.500 35 2.1 1.05 3.7 15.3 7.65 26.8
No.4 + 17.720 14.220 14.2 10.4 6.25 88.8 28.9 22.10 313.8
No5 + 0.00 2.280 2.3 12.2 11.30 26.0 38.0 33.45 76.9
No.6 + 0.00 20.00 20.0 0.00 6.10 122.0 6.1 22.05 4410
No6 + 1.70 1.700 1.7 - - - 0.0 3.05 52
97.7 97.7 240.5 863.7
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Wr m Wr m Wr m W m
No.1 +  4.00 - - 1.7 - - - - - - - - 0.3 - -
No.2 + 0.00 16.00 16.0 1.8 1.75 28.0 - - - - - - 0.3 0.30 48
No.3 + 0.00 20.00 20.0 1.7 1.75 35.0 0.0 - - - - - 0.3 0.30 6.0
No.3 + 11.072 11.072 1.1 05 1.10 12.2 1.1 0.55 6.1 - - - 0.3 0.30 3.3
No.4 + 0.00 8.928 8.9 0.0 0.25 2.2 1.7 1.40 125 0.0 - - 0.3 0.30 2.7
No4 + 350 3.500 35 - - - 0.0 0.85 3.0 1.7 0.85 3.0 0.3 0.30 1.1
No.4 + 17.720 14.220 14.2 - - - - - - 1.7 1.70 241 0.3 0.30 43
No5 + 0.00 2.280 2.3 - - - - - - 2.2 1.95 45 0.3 0.30 0.7
No.6 + 0.00 20.00 20.0 - - - - - - 1.7 1.95 39.0 0.3 0.30 6.0
No6 + 1.70 1.700 1.7 - - - - - - 1.7 1.70 2.9 0.3 0.30 0.5
97.7 97.7 77.4 21.6 73.5 29.4
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= a
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N EEERE EEEREE) EEBERGEE) B A E M IRAT
B o= XEEH|EAER| 2 E | £ 8 & T E|FE B m fE T E|FE B & T E|FE B m fE
T F T F E R E K
No.1 +  4.00 - - 16.0 - - - - - - - - 14.3 - -
No.2 + 0.00 16.00 16.0 21.7 18.85 301.6 - - - - - - 20.0 17.15 274.4
No.3 + 0.00 20.00 20.0 21.6 21.65 433.0 0.0 - - - - - 19.9 19.95 399.0
No.3 + 11.072 11.072 1.1 4.6 13.10 145.4 175 8.75 97.1 - - - 20.4 20.15 223.7
No.4 + 0.00 8.928 8.9 6.2 5.40 48.1 13.2 15.35 136.6 0.0 - - 17.7 19.05 169.5
No4 + 350 3.500 35 6.2 6.20 21.7 0.0 6.60 231 13.2 6.60 23.1 17.7 17.70 62.0
No.4 + 17.720 14.220 14.2 4.1 5.15 731 - - - 17.9 15.55 220.8 20.3 19.00 269.8
No5 + 0.00 2.280 2.3 42 415 9.5 - - - 18.2 18.05 415 20.7 20.50 47.2
No.6 + 0.00 20.00 20.0 15 2.85 57.0 - - - 45 11.35 2270 6.0 13.35 267.0
No6 + 1.70 1.700 1.7 15 1.50 2.6 - - - 45 450 7.7 6.0 6.00 10.2
97.7 97.7 1092.0 256.8 520.1 1722.8
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B o= REFEE|ZMER| B E | FBH | A B HE | FH | K BlHa|FEH| K E
BT m BT m BT m
15 EK# - - 0.4 - - - - - 0.3 - -
35 E ki 2.15 2.2 0.4 0.40 0.9 - - - 0.3 0.30 0.6
25 &£k - - - - - 0.2 - - 0.3 - -
455K 7.92 7.9 - - - 0.2 0.20 1.6 0.3 0.30 2.4
- - 0.9 1.6 30
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18-8-40BB |v= 1/2 X (1.70 + 2.30) X 2.00 X 10.00 = 40.00
WA )=}
18-8-40BB |[v= 1/2 X 0.35 X 0.70 X 10.00 = 1.23
A5t V= 40.00 + 1.23 = 41.23 41.2 |m®
JNBUETERE V= (40.00 + 1.23) X 1.04 = 42.88 42.9 |m’
Ao SE T e A= (2.088 + 1.30) X 10.00 = 33.88 33.9 |m?
H bt
BEHEBEMt=lcm|la= 1/2 X (1.70 + 2.30) X 2.00 = 4.00 2
a=  1/2 X 0.35 X 0.70 = 0.12 2
A= = 4.12 4, 2
KikEn 47
IRKYYES|L= 1.7 + (1.30 X 0.30) = 2.09 m
i N= 1.30 X 10.00 / 2.5 m¥/RK = 6 VN
VP75 TRE[L= 2.09 X 6 = 12.54 12.5 |m
KB
RC-40 V= 1/2 X (0.50 + 0.35) X 0.30 X 10.00 = 1.28 L3 n’
FEMIKIE A= 2.30 X 10.00 = 23.00 23.0 |m’
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18-8-40BB |v= 1/2 X (1.70 + 2.30) X 2.00 X 10.00 = 40.00
WA )=}
18-8-40BB |[v= 1/2 X 0.35 X 0.70 X 10.00 = 1.23
A5t V= 40.00 + 1.23 = 41.23 41.2 |m®
JNBUETERE V= (40.00 + 1.23) X 1.04 = 42.88 42.9 |m’
Ao SE T e A= (2.088 + 1.30) X 10.00 = 33.88 33.9 |m?
H bt
WEEZEMt=1emla= 1/2 X (1.70 + 2.30) X 2.00 = 4.00 2
a=  1/2 X 0.35 X 0.70 = 0.12 2
A= = 4.12 4.1 |m?
KikEn 47
IRKYYES|L= 1.7 + (1.30 X 0.30) = 2.09 m
i N= 1.30 X 10.00 / 2.5 m¥/RK = 6 VN
VP75 TRE[L= 2.09 X 6 = 12.54 12.5 |m
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18-8-40BB |V= 1/2 X (1.70 + 2.412) X 2.372 X 10.00 = 48.77
WA )=}
18-8-40BB |v= 1/2 X 0.536 X 1.072 X 10.00 = 2.87
A5t V= 48.77 + 2.87 = 51.64 51.6 |m’
JNBUETE(RE V= (48.77 + 2.87) X 1.04 = 53.71 53.7 |m’
Ao SE T e A= (2.476 + 1.30) X 10.00 = 37.76 37.8 |m?
H bt
EHEBEMt=1lcm|la=  1/2 X (1.70 —+ 2.412) X 2.372 = 4.88 2
a=  1/2 X 0.536 X 1.072 = 0.29 2
A= = 517 5.2 m?
KikEn 47
IRKYYES|L= 1.7 + (1.30 X 0.30) = 2.09 m
i N= 1.30 X 10.00 / 2.5 m¥/RK = 6 VN
VP75 TRE[L= 2.09 X 6 = 12.54 12.5 |m
BB CEARA)
RC-40 V= 1/2 X (0.536 + 0.686) X 0.30 X 10.00 = 1.83 1.8 m’
HHEEIE A= 2.412 X 10.00 = 24.12 24.1 |m?
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18-8-40BB |V= 1/2 X (1.70 + 2.523) X 2.743 X 10.00 = 57.92
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18-8-40BB |V=  1/2 X 0.722 X 1.443 X 10.00 = 521
A5t V= 57.92 + 5.21 = 63.13 63.1 |m’
NEUEERE = (57.92 + 5.21) X 1.04 = 65.66 65.7 |m’
Ao SE T e A= (2.864 + 1.30) X 10.00 = 41.64 41.6 |m®
H bt
WEEEMt=1cmla=  1/2 X (1.70 + 2.523) X 2.743 = 5.79 2
a=  1/2 X 0.722 X 1.443 =  0.52 2
A= 5.79 -+ 0.52 = 6.31 6. 2
KikEn 47
IRKYYES|L= 1.7 + (1.30 X 0.30) = 2.09 m
i N= 1.30 X 10.00 / 2.5 m¥/RK = 6 VN
VP75 TRE[L= 2.09 X 6 = 12.54 12.5 |m
BB CEARA)
RC-40 V= 1/2 X (0.722 + 0.872) X 0.30 X 10.00 = 2.39 2.4 m’
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—  1/2 X 0.25 X 0.20 X 7
X 1.0 = 0.18
18-8-40BB |V= 30.00 — 1.23 — 0.18 = 28.59 28.6 |m’
NEIEEE V= (30.00 — 1.23 — 0.18) X 1.04 = 29.73 29.7 |m’
18 A P A= 2.088 X 5.00 + (1.00 X 0.20 X 7) =
+ 1.00 X 0.60 + 1.30 X 500 = 18.94 18.9 |m’
BB LA
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AR

RC-40 A= 0.50 X 10.00 X 1.20 X 0.10 = 0.60 0.6 |m’




SRV K (300B X 100H) AN E St Lom2% ¥

AR - HHE it H L %

e

RIE Y KIRAZHEMER  s=1:10

2000 (%3 {1 14)

FAR Y kiR 'S
B300 = H100 &

A

300B X 100H |V= T X 0.10 X 0.15 X /2 X 10.0 = 0.24 0.2 |m




1, 25 KA S R A S

107724 Y

AIBI - KRR X ¥ R’
3 =
EHavH U=+
/W
L .L’ o =
800
500
150 500
E#HaVvH )=+
/W
J 1: i § 8
H Y o I
i
7 =1pmn RC-40
=1pgmm RC-40
755
800
705
900
750
av)y=p
R EE v= 1/2 X (0.90 + 0.705) 0.65 X 0.15
/N E) x 0.156 n
v= 1/2 X (0.25 -+ 0.50 X 0.50 0. 044 m’
v= 0.15 X 0.65 X 0. 049 m’
SR v= 1/2 X (0.60 -+ 0.15 X 0.50 0. 043 m’
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18-8-40BB |v= (0.254 + 0.038) X 10 = 2.92 2.9 |m’
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